SECTION 1: ENGLISH LANGUAGE

Part I: Comprehension

Read the following passage and answer Question 1-5 by choosing the answer to each question.
Answers should be based on what is stated or implied in the passage.

(The passage given below is excerpts from Word Power Made Easy by Norman Lewis and Why
We Lie by Robin Lloyd).

It was the famous Greek philosopher and cynic Diogenes who went around the streets of Athens,
lantern in hand, looking for an honest person.

This was over two thousand years ago, but | would presume that Diogenes would have as little
success in his search today. Lying seems to be an integral weakness of mortal character — | doubt
that few human beings would be so brash as to claim that they have never in their lives told at
least a partial untruth. Indeed, one philologist goes so far as to theorize that language must have
been invented for the sole purpose of deception. Perhaps so. It is certainly true that animals seem
somewhat more honest than humans, maybe because they are less gifted mentally. Why do
people lie? To increase their sense of importance, to escape punishment, to gain an end that
would otherwise be denied them, out of long standing habit, or sometimes because they actually
do not know the difference between facts and fancy. These are the common reasons for
falsification.

We all lie, all the time. It causes problems, to say the least. So why do we do it? "It's tied in with
self-esteem,” says University of Massachusetts psychologist Robert Feldman. "We find that as
soon as people feel that their self-esteem is threatened, they immediately begin to lie at higher
levels.”

Not all lies are harmful. In fact, sometimes lying is the best approach for protecting privacy and
ourselves and others from malice, some researchers say. Some deception, such as boasting and
lies in the name of tact and politeness, can be classified as less than serious. But bald-faced lies
(whether they involve leaving out the truth or putting in something false), are harmful, as they
corrode trust and intimacy—the glue of society.

"We're trying not so much to impress other people but to maintain a view of ourselves that is
consistent with the way they would like us to be,” Feldman said. We want to be agreeable, to
make the social situation smoother or easier, and to avoid insulting others through disagreement
or discord. Men lie no more than women, but they tend to lie to make themselves look better,
while women are more likely to lie to make the other person feel better.

People should become more aware of the extent to which we tend to lie and that honesty yields
more genuine relationships and trust. "The default ought to be to be honest and accurate ... We're
better off if honesty is the norm. It's like the old saying: honesty is the best policy."
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1. The authors are mainly concerned with

A. how mortals are determined to avoid telling untruths
B. describing the different ways people react to deception
C. why animals are less gifted than humans
D. describing why telling untruths is a way of life
2. If honesty becomes the norm, then
A. distrust in relationships will flourish
B. true relationships and trust will grow
C. discord can be avoided
D. creativity is destroyed
3. Why do people feel the need to lie?

To boost their self-esteem

To prove they are more gifted mentally
To outsmart the other person

Solely to be the centre of attraction

COow>

4. Which of the following best describes the word falsification?

A. Correction
B. Deception
C. Modification
D. Coercion

5. Men’s tendency to lie revolves around

A. creating trust

B. attracting the opposite sex

C. allowing others to look better

D. making themselves look better or superior

Part Il: Grammar

6. Choose the word or phrase that will correctly complete the conversation.
| asked the children if they were safe and they replied

A. affirmative

B. out of harm’s way
C. affirmatively

D. in protection
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7. Choose the word or phrase that will correctly complete the conversation.
The legislation the adoption of temporary special measures.

A. provision

B. provides for
C. made provided
D. supplied

8. Choose the word or phrase that will correctly complete the conversation.
The poverty rates will fall focus on rural development.

A. ifwe

B. if we will
C. whenever we
D. when we will

9. Although human beings are believed to be endowed with the seed of enlightenment and
are therefore considered fundamentally good, being nonetheless vulnerable beings quite
capable of acts of violence and rage when provoked by circumstances.

For this sentence to be correct, which among the following should replace the underlined
phrase?

A. nonetheless, being vulnerable beings

B. they are nonetheless vulnerable beings

C. nonetheless since being vulnerable beings
D. nonetheless as they are vulnerable beings

10. Which of the following words looks plural but is not?

A. Billiards
B. Darts
C. Ballistics
D. Fives
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Part 111: Vocabulary

11. Choose the word that will correctly complete the sentence.

Cultivation is by steep slopes and erosion risks.

A

B.
C.
D.

inadequate
limited
poor
deficient

12. Choose the word that will correctly complete the sentence.

She was taking a walk in the park when it started to rain.

Cow>»

solitary
alone
detached
single

13. Which of the following usages in relation to the word “tortuous” is correct?

o o w >

14. Which

Winding roads are tortuous
Stressful times are tortuous
Painful ordeals are tortuous

Recurring bad memories are tortuous

of the following sentences makes a correct distinction between the words

“Aggravate” and “Irritate”?

A
B.
C.
D.

Aggravate means “to erase” and irritate means “to heat up”
Aggravate means “to introspect” and irritate means “to incite”
Aggravate means “to raise” and irritate means “to create anxiety”
Aggravate means “to add to” and irritate means “to vex”

15. The British equivalent of “Veteran” (American) is:

SO w>»

hero
ex-serviceman/woman
the honourable one
senior citizen
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Part 1V: Synonyms

16. Choose the word or phrase that is the closest in meaning to the underlined word in the
sentence.

The man scowled at the counter.

A. shouted
B. beamed
C. frowned
D. paid

17. Choose the word or phrase that is the closest in meaning to the underlined word in the
sentence.

A detailed investigation was commissioned.

A. called off
B. planned

C. authorized
D. instigated

18. Choose the word or phrase that is the closest in meaning to the underlined word in the
sentence.

The agency would circumvent all the procedures.

A. shorten
B. discontinue
C. avoid
D. adhere to
19. Which of the following words has the same meaning as “Ubiquitous”?

A. inconsistent
B. tearful

C. omnipresent
D. warlike

20. Which of the following words has the same meaning as “Disparage”?

A. Dbelittle
B. violate
C. trudge
D. soothe
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Part V: Antonyms

21. Which of the following words has the opposite meaning of “Impinge”?

A

B
C.
D

not intrude
impose
instill

imbibe

22. Which of the following words has the opposite meaning of “Susceptible”?

A.

B
C.
D

culpable
inclined
vulnerable

immune

23. Which of the following words has the opposite meaning of “Transitory”?

A

B
C.
D

perpetual
passing
transient

ephemeral

24. Which of the following words has the opposite meaning of “Specious”?

A.
B.
C.
D.

genuine
unauthentic
indispensable
auspicious

25. Which of the following words has the opposite meaning of “Pacific”?

A

B
C.
D

deep
agile
soothing

aggressive
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51.

52.

53.

54.

SECTION 3: PROBLEM SOLVING

Karma is heavier than Sonam. Dorji weighs less than Sonam. Dawa is heavier than Dorji
but lighter than Sonam. Which of the following statements is NOT true?

A.

B
C.
D

Karma weighs more than Dorji.
Sonam weighs less than Karma.
Dorji weighs more than Karma.
Dorji is the lightest of all.

Bumthang is located in Central Bhutan and some Bumthaps (people of Bumthang) can
speak Sharchop and some can speak Khengkha. If 70% of Bumthaps speaks Sharchop
and 60% of Bumthaps speaks Khengkha, what is the minimum percentage of Khengkha
speaking Bumthaps that also speak Sharchop?

A.

B
C.
D

30%
25%
20%
15%

I am a time of the day. I am in London (United Kingdom) when it is 3:00 PM in Tokyo
(Japan). Assume that Tokyo time is 3 hours ahead of Thimphu (Bhutan) time. I am

12 midnight
3 AM
6 AM
6 PM

Look at the number patterns and study the sequence carefully. You will be required to
correctly guess the next sequence number.

2
12

1112
3112

132112
1113122112
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55.

56.

The next sequence number should be....

A. 133122212123
111222333122
231123123121
311311222112

O 0w

Five teams from Thimphu’s Schools are participating in a Summer School Football
League. If each team plays the other teams 2 times, the total number of games the League
will play is ...

10
20
30
40

o w >

Karma needs to transport a dog, a duck and corn in a boat across a river. The boat is
capable of transporting Karma and one of the other three at each crossing. Karma
succeeded in crossing them all without letting the dog eat the duck or the duck eat the
corn. Which of the following sequence of events made him possible in crossing them all
safely?

A. He transports the duck. He returns to get the dog, transports the dog but brings
back the duck. He leaves the duck on shore and crosses with corn. He leaves corn
with the dog and returns to get the duck.

B. He transports the dog. He returns to get the duck, transports the duck but brings
back the dog. He leaves the dog on shore and crosses with corn. He leaves corn
with the duck and returns to get the dog.

C. He transports the corn. He returns to get the dog, transports the dog but brings
back corn. He leaves corn on shore and crosses with the duck. He leaves the duck
with the dog and returns to get corn.

D. He ties the dog to a tree and transports the corn. He returns to get the duck,
transports the duck. He returns to get the dog.
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57.

58.

59.

Tandin pays 50% of his monthly income as house rent and 25% as loan repayment. He
spends Nu. 2,000 on food and drinks. He still saves Nu. 5,000 per month and deposits
into his saving account. What is Tandin’s monthly income?

A

B
C.
D

Nu. 35,000
Nu. 33,000
Nu. 30,000
Nu. 28,000

Tobgay wants to travel from Paro to Bagdogra in India. He had two options to reach
Bagdogra from Paro. He can either travel by air which takes 30 minutes or by a taxi

which takes 10% hours. The air ticket will cost him Nu. 5,000 and the taxi fare will costs

him Nu. 1,250. Other things remaining constant, Tobgay would gain by choosing air
travel if, and only if, his time were valued at more than:

A.

B
C.
D

Nu. 375 per hour
Nu. 275 per hour
Nu. 175 per hour
Nu. 75 per hour

Identify two statements necessary to make the statement “A is south-west to C” true.

Qoo

A is two miles south of B.
B is two miles east of D.
C is two miles east of B.
D is North-west of A.

The two correct statements are:

O O W

c&b
d&b
a&d
a&ec
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60.

61.

62.

63.

Six electronic items are stacked in a cupboard divided into several racks. Mobile Phone is
in the rack right above the Ipod and the Laptop is in the rack right below the Micro Oven.
Micro Oven is in the rack right above the Mobile Phone and the Ipod shares the rack with
the Headphones. Rice Cooker is kept on the lowest rack. Which item is on the topmost

rack?

o w >

Laptop
Headphones
Micro Oven
Mobile Phone

When a heavy object is lifted under water, it is easier to lift than lifting the same object in
the air. Which of the following best provide reasons for this?

A

When an object is immersed in water, water absorbs some of the weights from
the object and hence the object becomes lighter.

When an object is immersed in water, it losses some of its weight at the surface
of the water and hence become lighter.

When an object is immersed in water, the gravitational force of the earth acts
upwards and hence makes the object lighter.

When an object is immersed in water, it experiences an upward thrust and losses
weight equal to the water displaced by the immersed object and hence becomes
lighter.

Four defenders in a football match — Defender A, Defender B, Defender C & Defender
D — take their positions in this order in a row from right to left. During the match,
Defender A changes places with Defender C and then Defender C changes places with
Defender B. Which defender is now at the right end of the row?

A.

B
C.
D

Defender A
Defender B
Defender C
Defender D

Progress that meets the needs of the present generations without compromising the ability
of future generations to meet their own needs is called:

A
B.

cultural development

sustainable development
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64.

65.

C.

economic development

D. future development

In a classroom of 125 students, 75 are male students. What percent of the classroom is

female?

o0 ® »

60%
40%
0.6%
0.4%

Which of the following best describes the difference between Gross Domestic Product
(GDP) and Gross National Product (GNP)?

A

GDP is a measure of output produced within the borders of the country in a
year, while GNP is a measure of output produced by domestic citizens in a year.

GDP is a measure of output produced by the citizens of the country in a year,
while GNP is a measure of output produced within the domestic borders in a
year.

GDP is a measure of output produced by the citizens of the country inside and
outside the borders, while GNP is a measure of all output produced within the
domestic borders.

GDP is a measure of output produced by domestic citizens in a year, while GNP
is a measure of output produced within the borders of the country in a year.

Look at the pictures carefully.




67.

68.

If each car carries 3 passengers and each bus carries 20 passengers except 3 buses which
carries only 18 passengers each, the ratio of passengers travelling by buses to total
passengers is:

A. 234to24

B. 234to258
C. 216to 258
D. 240to 258

Which of the following best describes the difference between a person’s Curriculum
Vitae (CV) and Resume?

A

A CV is a brief and concise summary of a person’s skills, experience and
education, while a Resume is a detail summary of a person’s educational
qualification, academic backgrounds, publications, presentations, awards, honours
and other details.

A CV is a summary of a person’s educational and academic backgrounds etc used
only in Europe and Asia, while Resume is a summary of a person’s educational
and academic backgrounds etc used only in United States of America.

A CV is a detail summary of a person’s educational qualification, academic
backgrounds, publications, presentations, awards, honours and other details, while
a Resume is a person’s brief and concise summary of skills, experience and
education.

A CV is a brief and concise summary of a person’s skills, experience and
education used only when applying for jobs in the Government, while Resume is a
brief and concise summary of a person’s skills, experience and education used only
when applying for jobs in the Corporations and Private Firms.

Sonam and Pema were given an apple pie each. Sonam ate 2/3 of the pie and Pema ate
3/4 . What portion of the pie did they eat altogether?

oo w >

More than one pie
Less than half a pie
Three sixth of a pie

The relationship cannot be determined from the information given.
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69.  Compare column A and column B

Column A Column B
27" 9°
A. The quantity in column A is greater
B. The quantity of column B is greater
C. The two quantities are equal

D. The relationship cannot be determined from the information given.

70.  The price of a commodity increased 8 points, then decreased 13 points, and then
increased 9 points. If the commodity price before the changes was x points, which of the
following was the commodity price, in points, after the changes?

A. X5
B. x4
C. x+5
D. x+4
71. If y>2, compare column A and column B
Column A Column B
y-6 -3

A. The quantity in column A is greater
B. The quantity in column B is greater
C. The two quantities are equal
D

The relationship cannot be determined from the above

72. Which number should be in next series?

1-1-2-3-5-8-13
A 21
B. 26
C. 31
D. 41

Page 21



73. Pema, who is sixteen years old, is four times as old as her brother Sonam. How old will
Pema be when Pema is twice as old as her brother Sonam?

A. 20
B. 24
C. 26
D. 28

74. Choose the number that is 1/4 of half of 1/5 of 200?

A. 40
B. 20
C. 10
D. 5

75. If you arrange the letters “LNGEDNA” you have the name of a (n):

A. Animal
B. Country
C. Ocean
D. City
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SECTION 4: DATA INTERPRETATION

76.  Which figure completes the series?
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o 100

Use the following graph to answer question 77 & 78.

3000 .
Top Ten Revenue Agencies of Bhutan
2
2500 +—| &
o
2000 3
3 ;J
1500 i 2006-07
- i 2007-08
1000 5 '
m K
500 - ] = 3 i
S el B K1 Bl H B BT B 3
0 - e M e
DHI THPA CHPC TCB  RMA Deptof Bhutan PCAL RSTA  BPC
Lottery Telecom

The above bar graph shows the top ten revenue agencies of Bhutan in 2007 and 2008. The
figures are in million Ngultrum rounded up to a whole number.

77. Which agency had the highest variation in revenue contribution between 2007 and 2008?
Has the contribution decreased or increased?

A B C D
THPA: Dept. of lottery: DHI RMA:
decreased increased increased decreased
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78. How much was the total contribution by the top ten agencies in 2006-07?
A B C D
4326 6719 12428 7341

79. The graph below does not show axes or origin. If point B's coordinates are (10, 3), which of

the following coordinates would most likely be A's?

A

B

C

D

(6.8)

(10, 6)

(-10,3)

(-2,-17)

Use the information in the chart below to answer guestion 80 & 81.

The chart shows total revenue as a percent of GDP and revenue as a percentage of recurrent
expenditure.

@ Total revenue as a % of GDP M Revenue as a % of recurrent expenditure
150
- ||
132 127
100 1142 1 [
102.7 982 9g3 1035
50 233
20.7 16.9 16.4 17.6 17.5 21.7 :
® o o o o ¢
0 T T T T T T T 1
2001 2002 2003 2004 2005 2006 2007 2008 2009

Page 24




80. The fiscal policy of the Royal Government of Bhutan (RGoB) requires that domestic
revenue should cover the recurrent expenditure of the government. In which year the RGoB
did not meet that policy goal the most?

A B C D
2002 2004 2005 2006
81. Which year did the domestic revenue exceed the recurrent expenditure the most?
A B C D
2008 2004 2006 2007

82. Dema needs to bake a cake and some cookies.

a.  The Cake requires: 6/16 cups of sugar and the

b.  Cookies require: 6/10 cups of sugar.

c. Dema has 15/16 cups of sugar. Does she have enough sugar, or how much more
does she need?

A B C D
Enough Needs 1/8 Needs Needs
cups 3/80 cups | 4/19 cups

Use the following Data to answer Question 83 & 84.

The table below shows the scores of Sonam in 8 MOCK preliminary selection test conducted by
RCSC. Assume that all MOCK selection tests contain 3 sections, each section has 25 questions.
The total of the scores in 3 sections is compared with “cut off”. If the total score is higher than or
equal to the “cut off”, then it is said to clear the “cut off”.

83. In how many MOCK selection tests did Sonam clear the cut off?

A B C D
4 3 2 5

Page 25



84. In which MOCK selection test did Sonam score the maximum total marks?

A B C D
Mock 2 Mock 4 Mock 6 Mock 8

See the graph below and answer Question 85 & 86.

6 km
piall

4km A student walks to the bus stop to catch a
| bus to the university. He then walks from
Lk the bus stop at the university to the

2k students union ariving there at 8.35 am.

wa
0 km

gam 810 820 830 840
Time

85. How far is the student from the university students' union at 8.20 am?

A B C D

4.5 km 4.0 km 3.5km 3 km

86. What is the average speed of the bus?

A B C D
34 km/h 20 km/h 24 km/h 35 km/
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Above chart show some figures on agricultural imports for five months. Use this information to

answer question 87, 88, 89.

87.  Which month showed the largest total decrease in imports over the previous month?

A B C D

Jan Feb March April
88.  What percentage of rice was imported in April?

A B C D

17 19 21 23

89. What was the total cost of wheat imports in the 5 month period?

A

B

C

D

$ 27456

$ 25500

$ 22000

$ 21456

90. Which letter combination is the odd one out?

A
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Here is the table showing the number of tourist arrival in Bhutan by Season from the year 2004
till 2008. Use it to answer question 91 & 92.

Season | Month 2004 2005 2006 2007 2008 | Total
November 1198 1443 2084 2733 4126 11584
December 455 625 854 1091 1190 4215
Winter | January 89 332 412 441 532 1806
February 358 632 532 814 1311 3647
March 831 2164 1381 2539 3512 10427
Spring | April 1304 1465 3344 2666 3173 11952
May 448 700 999 1045 1862 5054
June 313 315 422 580 869 2499
Summer | July 276 274 454 588 1085 2677
August 476 576 896 1133 1386 4467
September 1248 1688 2187 2952 2428 10503
Autumn | October 2253 3412 3777 4512 6162 20116

Source : Tourism Council of Bhutan, 2009.

91. From the data given in the table above, which month and year had the lowest tourist
arrival?

A B C D
March 2005 September 2004 October 2008 January 2004

92.  The average monthly tourist arrival for the year 2007 is :

A B C D
1758 1445 2303 1256

Here is the population projection of Bhutan for the year 2011 to 2020.

480000

894 409474 414293 418760
430000 = S— 298948 204347

369476 375554 381582 _—
380000 i
8789 5125 51422

330000
280000
230000

180000

130000

80000

30000 : : , I | | | |

2011 2012 2013 2014 2015 2016 2017 2018 2019 2020

Source : Population Projections Bhutan, NSB, Thimphu)
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Use the above graph to answer Question 93 & 94

93. In which year is the projected ratio of male: female exactly 52.2:47.8?
A B C D
2020 2018 2015 2011

94. Considering the growth rate of the male population for 2020-2021 to be the same as 2019-2020,
what is the projected population for the year 2021?

A B C D
414293 418760 423275 390637

Given below is the percentage series of arrival of tourist in Bhutan in the four different seasons. Use the
graph to answer question 95 & 96.

Graph for Seasonal Tourist Arrival 2008
70
60 \ / 57
50 \ /2\‘5\45 /
40 4

oL\ / N\ /e
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10 T 13
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< >IN T A Q < <
) &oe ) (g\oe’ %Qo,bk \ok"'é « S vgk @fb\\ RS P 03;;‘ < & ééoe
$04 Qef’ Wl v %eQ\ O
95. If 1000 tourist arrived in the month of January, what is the total tourist arrival for the
winter season of November — January?
A B C D
10000 11584 4215 3655
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96. Assuming that 120000 tourist visited Bhutan in the year 2008, which of the following statement

is true?

A B C D
Maximum number | The least number of Most of the tourist None of the
of tourist arrived in | tourist visited Bhutan | visited Bhutan in the | above
November 2008 in the month of Autumn Season

January 2008 (August-October)

Here’s the graph showing the export earnings by the three steel manufacturing companies in Bhutan from
the year 2004 - 2010. Use it to answer question 97, 98 & 99.

140
120 /f—
100
i /
2 80 /
= \ / \ / —o—Druk Ferro Alloys
E 60 \ / \ —fli—Bhutan Carbide
= M V Karma Steel
40 /
20
0 T T T T T T 1
2004 2005 2006 2007 2008 2009 2010
97. In which year did the export earnings of the three companies differ the least in terms of their

earning values?

A B C D
2005 2007 2008 2010
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98.

99.

100.

What was the difference between the average exports of the three companies in 2004 and in

2009?

A

B

C

D

16.66 million

18.76 million

20 million

22.17 million

Average annual exports for the period 2004-2010 of Druk Ferro Alloys is approximately what

percent of the average annual exports of Karma Steel?

A

B

C

D

87.12%

88.12%

91.53%

93.33%

Which figure completes the series?
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